ﬂé Adding and Subtracting 10s and 100s Name:

Fill in the blanksfor each problem.

534+10= 303-10= 585+100= 786 - 100 =
823+10= 311-10= 853+100= 559 - 100 =
221+10= 252-10= 173+100= 946 - 100 =
560 +10= 137-10= 139+100= 117-100=
779+10= 189-10= 826+100= 263 - 100 =
413+10= 978-10= 804+100= 858 - 100 =
527+10= g7-100= 69+100= 239 - 100 =
324+10= 814-10= 530 +100= 939 - 100 =
861+10= 99-10= 549 +100= 600 - 100 =
671+10= 100-10= 842+100= 557 - 100 =
548 +10= 74-10= 128+100= 849 - 100 =
244+10= 813-10= 698 +100= 200 - 100 =
929+10= 936-10= 760 +100= 170- 100 =
819+10= 315-10= 145+100= 589 - 100 =
402+10= 789-10= 347+100= 481 - 100 =
326+10= 148-10= 805+100= 203 - 100 =
543+10= 523-10= 791+100= 230 - 100 =
6+10= 12-10= 275+100= 438 - 100 =
726+10= 484-10= 82+100= 878 - 100 =
974+10= 793-10= 877+100= 943 - 100 =
809+10= 425-10= 785+100= 960 - 100 =
680+10= 712-10= 325+100= 709 - 100 =
268 +10= 346-10= 509 +100= 713 - 100 =
933+10= 839-10= 59+100= 935 - 100 =
110+10= 830-10= 399+100= 782 - 100 =
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ﬂé Adding and Subtracting 10s and 100s

Name: Answer Key

Fill in the blanksfor each problem.

534 +10= 544 303-10= 293 585+100= _ 685 786 - 100 = 686
823+ 10= 833 311-10= 301 853+100= 953 559 - 100 = 459
221 +10= 231 252-10= 242 173+100= 273 946 - 100 = 846
560 + 10 = 570 137-10= 127 139+100= 239 117- 100 = 17
779+ 10 = 789 189-10= 179 826 +100= 926 263 - 100 = 163
413+ 10= 423 978-10= 968 804 +100= 904 858 - 100 = 758
527 + 10 = 537 87-10= 77 69 + 100 = 169 239-100 = 139
324+ 10= 334 814-10= 804 530+100= 630 939 - 100 = 839
861+ 10 = 871 99-10= 89 549+100= _ 649 600 - 100 = 500
671+ 10= 681 100-10= 90 842+ 100= 942 557 -100 = 457
548 + 10 = 558 74-10= 64 128 +100= 228 849 - 100 = 749
244+ 10 = 254 813-10= 803 698 +100= 798 200 - 100 = 100
929+ 10 = 939 936-10= 926 760+100= _ 860 170- 100 = 70
819+ 10= 829 315-10= 305 145+100= 245 589 - 100 = 489
402+ 10 = 412 789-10= 779 347+100=_ 447 481 - 100 = 381
326+ 10 = 336 148-10= 138 805+100= 905 203 - 100 = 103
543+ 10 = 553 523-10= 513 791+100= 891 230-100 = 130
6+10= 16 12-10= 2 275+100= 375 438 - 100 = 338
726 +10 = 736 484 - 10 = 474 82+ 100 = 182 878 - 100 = 778
974+ 10 = 984 793-10= 783 877+100= 977 943 - 100 = 843
809+ 10 = 819 425-10= 415 785+100= _ 885 960 - 100 = 860
680 + 10 = 690 712-10= 702 325+100=_ 425 709 - 100 = 609
268 + 10 = 278 346-10= 336 599+100= 699 713 - 100 = 613
933+ 10= 943 839-10= 829 59+ 100 = 159 935-100 = 835
110+ 10= 120 830-10= 820 399+100= 499 782 - 100 = 682
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